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According to the menu and the conversation, who will have to pay the most if
everyone orders only one portion of each item she wants to eat?

R EE 7\—

P(j?gf;g) (A) K'elly
(B) Linda
(C) Vivian
(D) Wendy

=% 8% |D
1. &~ * %2 P 3% “Everyone will order only one portion of any item she likes for
herself.” » & & £4p” # B 4 B ehizim - 5 § 4 88 B— (7 o & JLALIF menu
Blor # price (for one portion) ¥ i BL& — (> & B2 ¥ & o #7172 i542 one portion
of each item & % & 38 - > > Ft At Jeh 3 ATEEE BEeni fi @ 2LE O & Bhen
Higgme

Fsm 42 B Who will have to pay the most if everyone orders only one portion of each item

shewantstoeat? p % Z R oR— A B 5 54 -

i, 7 0 Kelly 2 Linda & 2- 38 8 5 @ Vivian & Wendy P & 2% 7 &
P o & A e ¥ A Kelly 2 Milkfish soup — 7 90 =~ - Linda 2 Danzai noodles
- ©» 70 = > Vivian 2k bubble tea — > 50 ~{r coffin bread — i» 70 ~ (% 120 ~) -
Wendy 2t Oyster omelet — i» 80 ~ {- Taiwanese meatball - » 50 ~ (& 130 =)
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What is the contribution of the Japanese to Taiwan’s chocolate industry?

(A) They knew how to produce chocolate.

(# i£7) | (B) They moved from Indonesia to Taiwan.
(C) They introduced cocoa trees to Taiwan.
(D) They succeeded in growing cocoa trees.
22 8% |C
1. ~< % - & Cocoa trees were first brought to Taiwan from Indonesia by the
Japanese when they ruled the island 7 83+ 2 EdA-$ 7 7 TE R R d L F Kk =+
T A p A4 o Ra A4E4E0 What is the contribution of the Japanese to
Taiwan’ schocolate industry? 48p R 5" P AL 20 £ 85954 2 ¥ m?‘}? %
e w?, #E3E(A)(B) (C) (D) ¥ cirthey # 7+ 5 the Japanese (P A ) > A A_P 4~

Ao Il ¥%v 2 33 TThey o FI %5 TC, wPRTPRHALE Tilig
kd o wE T BRI Tp ARt d s higimns o p AL
Er gtk # S 7 A SR TR 4 R ¥ hT k> wiE 5 (C) They introduced cocoa
trees to Taiwan » it 2 & A< % &, ©
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What does the phrase “ take off ” in paragraph 3 mean?

(A) Remove its obstacles

(% ¥7%) | (B) Become successful
(C) Appear competitive
(D) Present its challenges
22 5% [B
1. 1245 Macmillan English Dictionary for Advanced Learners - “take off” ¥ & &
“to become successful or popular very fast” -take off - @& 7 " R AR ER = #
2R o e ® stakeoff HT R E FARRAR I A IR IHE HRITILA >R
FEFLEP | poem ek g TEARE S E (o5 (C) Appear competitive (%17 7 #tL 12) 3%

?%' ﬁj% fL' %Al‘ifr take Off — g? ]]\ /3\ rj’y% j’gaji, * *B H_:, ° %EE] l‘g;é? nCu Appear
competitive #2 &> F¢ F T2 A o
2 MghdE EE5(B)
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What does the word “one” in paragraph 3 refer to?

(A) classroom

(7 iE3) | (B) crisis
(C) school
(D) student
24 §% |C
1. 1345 Cambridge Dictionary > close ¥ % 2 4 #307pF » DA 0 5 X o A2 i
close mi #2510 A (F 5 A3 i % Fdi o 2 ¢ e “As the crisis worsened,
schools closed one after another” iz 3 " FIA € ~ ERAp MR, i
FERREP | _schools & & (4 3@) closed B B % 3(7 % 4= #3) » @ one after another #p 4

(5 SE)RIAG A e S R R AL e 395 T LR M
T2EEANE M F o ¥ oone (i iEiTw ¥ 3@ 5 school -
2. *E Py ER5(C)-




TP

o E-E Do

FALAEEL | 41
According to the passage, which of the following is NOT an act of social distancing?
FEEp 7 | (A) Attending a live concert filled with people.
(# i£7) | (B) Reducing the number of workers in the office.
(C) Holding online church meetings with followers.
(D) Watching videos at home instead of going to the movies.
>+ EF A
1. > p] %4 % “To lower the risk of infection, companies put distance between
employees in the workplace and told sick employees to stay home. Offices were
generally flexible in the time and place of work.” ~ “Offices were generally flexible
FEInEm | in the time and place of work. ” lﬁ%%ﬁ&%ﬁﬁﬁﬁl@ﬁQE@ﬂﬁwﬂ
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